
Assembly Instructions

Model #

This fine piece of furniture will make a handsome
addition to your home. For the best results, start by
reading the Assembly Instructions before you begin
your project.

Eastport II
Bedroom Collection
Distressed Honey Finish

4504AFDH
Eastport II

Model #

Eastport II

1-Drawer Nightstand

10/08VN

4564AFDH
9-Drawer Dresser

4519AFDH
4-Drawer Chest

4520AFDH
 

5-Drawer Chest

Model #

Eastport II

Model #

Eastport II



4504AFDH, 4519AFDH, 4520AFDH, 4564AFDH
Eastport II Bedroom Collection – Parts List

Part

 

Description Qty. Qty. Qty. Qty.
 A Top Assembly . . . . . . . . . . . . . . . . . .  1 1 1 1

 B Case . . . . . . . . . . . . . . . . . . . . . . . . . .  1 1 1 1

 C Drawer Box* . . . . . . . . . . . . . . . . . . . .  1 4 5 0

 D Small Drawer Box* . . . . . . . . . . . . . .  0 0 0 3

 E Large Drawer Box* . . . . . . . . . . . . . .  0 0 0 6

 F Drawer Face . . . . . . . . . . . . . . . . . . . .  1 0 0 0

 G Upper Drawer Face . . . . . . . . . . . . . .  0 1 1 3

 H Lower Drawer Face . . . . . . . . . . . . . .  0 3 4 6

 L Knob . . . . . . . . . . . . . . . . . . . . . . . . . .  1 8 10 9

 M Nylon Restraint Strap . . . . . . . . . . . .  1 1 1 2

 N Clip . . . . . . . . . . . . . . . . . . . . . . . . . .  2 2 2 4

 O #8 x 2" Black Screw . . . . . . . . . . . . . .  2 2 2 4

 P #8 x 1" Pan Screw. . . . . . . . . . . . . . . .  2 2 2 4

 Q 4 x 30 mm Machine Screw . . . . . . . .  1 8 10 9

 R Drawer Slides (pre-installed sets) . . . .  1 4 5 9   

4504AFDH
Model # Model # Model # Model #

4519AFDH 4520AFDH 4564AFDH

       *Does not include the Drawer Face

A – Top Assembly

B – Case

C, D or E Drawer Box F, G or H Drawer Face

M – Nylon Restraint Strap N – Clip O – #8x2" Black ScrewL – Knob

P – #8x1" Pan Screw Q – 4x30mm Machine Screw R – Drawer Slides (pre-installed sets)

4504AFDH shown in the drawings below.

Page 2 — 4504AFDH & 4519AFDH & 4520AFDH & 4564AFDH — 10/08

Please identify the parts and check that quantities received match those on this list. 
If you need to replace a part, refer to the following letter and model name.



Page 3 — 4504AFDH & 4519AFDH & 4520AFDH & 4564AFDH — 10/08

4504AFDH, 4519AFDH, 4520AFDH, 4564AFDH
Eastport II Bedroom Collection

Assembly Instructions
TOOL REQUIRED:

Phillips Screwdriver

Position unit at desired location. Locate stud in the wall behind unit. Attach Clip (N) to wall stud 
with two #8 x 2" Black Screws (O). See Figure 1. Attach second clip to unit with two #8 x 1" 
Pan Head Screws (P). See Figure 2. Connect the two clips with Nylon Restraint Strap (M). See 
Figures 3a and 3b. NOTE: 4564AFDH requires two tipping restraints.

If you can’t locate a stud, purchase proper wall attachment hardware for your type of wall and 
secure the unit.  

 

1.

4564AFDH shown in above drawing.

a

b




